5511 [ — 5 1 EfEP X.=111.09m, Y.=83.04m

HET—v | HHEAICKBERER

T275 C OJlafg=T275 T1DJ7 I + Bz
=267° 44’ 17" + 321° 42" 50” — 360°
=229° 27" 07"
L7285 T,
X, =115.59m + 6.92m X c0s229° 27" 07"
=111.091m
Y. =88.30m + 6.92m X sin229° 27" 07"
=83.041m

55118 —f5 2 IEfEP 99° 43’, 24.35m

HET—V | WEEICK BB

T12°5 G OJ5 I J OB L, A2 ST 5 &, 187° 277 287, 24.345mTH 5.
KFf=TIH 5 GONFMH—-TLHh 5 T2O A
=187° 27’ 28" — (267° 44’ 177 — 180°)
=09° 43" 117

L727%85C, KPA1399° 437, KPHEEZ24.35m TH %o

8 117—F 3 EMP Xy=+111.09m, Yy=—1126.53m

HETF - | TAEE

Hix, EHACLEMEGCGHOLTEE L TERD S,
ACOMEMIL, XJEENFEULDT, Y I ATREMRTH S,

x =111.09
EGOEMNZRD L, EEZ AT 5L,
y = - 56.96x + 5201.1572
LR % HA ST &,
Xy =+ 111.09m
Yy = - 1126.529m
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F11/—F 4 EfEP Xeg=+111.09m, Yg=+70.90m
Xe=+4+90.07m, Yg=+70.90m

HET—v | ERIEEICK EFREE

EARAGIX Y HELSF U RDT, XTI TH 5, HMBFIZEMAG EFATRDOT, X il
AT TH B
EARACIE X FEREDFH LD T, YHIZFATTHD, Lizh> T, HHMAGKOEMBE &
¥ %o
AHAG & AHBF IZHIPBRICH 50T, WL, HBEEZRD 5,
AHAG DI = HA X AG + 2
= {56.53m — (—1126.53m) | x (111.09m - 90.32m) + 2
= 12286.0781 ni
AHBF Ot = AHAG O + ] ABFG DT A
=12286.0781 ni + 300.26 nf
= 12586.3381 ni
MFEHITBAED 2 FDHIZEL VDS,
AHAG DT : AHBF O = HA? : HB?
12286.0781 : 12586.3381 = 1183.06* : HB?
HB =1197.429m
L72h5C, B, F ORI,
Xp=+111.09m
Y, =Yy +1197.43m
=—1126.53m + 1197.43m
= +70.90m
MPEARICE D HA : AG=HB: BFAZ®DT,
1183.06m : 20.77m = 1197.43m : BF

BF =21.022m

Xg =111.09m — 21.02m
=+ 90.07m

Yr =Yg
=+ 70.90m
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5511 —fH 5 EfE P 297.85m

HET—V | BEAICKSKE

At 2 (BC DEF) O %MD X ) RO D,
=% 1X, (Y, 1 - Y,_ ) =2
111.09m x (83.04m — 70.90m) = 1348.6326 nd
111.09m x (85.16m — 70.90m) = 1584.1434 nd
108.96m x (85.01m — 83.04m) = 214.6512ni
89.82m x (70.90m — 85.16m) = — 1280.8332 nd
90.07m % (70.90m — 85.01m) = — 1270.8877 ni
14 = 595.7063 nd
1A% = 297.85315nd
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